[#=x:5)

FTHFEEFHFLIVYBBRINZFHEHE(R)

RADE (M)
#8 FRE | MERRNS B
MEERRE 60,696 16,905
E LUk 300,000 300 000EHitiEMESERENS
Bk & 200,000 200000|EFFEHB A ESS
FEAR A 0 1
it 560,696 516,906
XHOB (B6:M)
#HE FHE | WMEERNEG {ilf 5
ERRE 150,000 132,141|8£%30, 000H x 4%
¥¥ERB 30, 000H
£33 4 50,000 25964 =10, &R+« E/L4E. 286
FRA%cE. EHBEcE
=) - 120,000 43,520|F5187°XY 25, 000Mx2E (BEBENR)
50. 000x1[E (N E)
TOHENHE20, 000
HEER 70,000 35,081 |F5B-LVEER 356 000H
—EERF35 000
HESR 75,000 43 426|7)8—40 RS
6 52 A 32 65,696 154,058|5v7. USBAE)—%
EBR 30,000 20208 SRRFVREUVEET SR
AR 60,696
=111 560,696 516,906

* FLWELYDRTIESET. 1BIZNRREICIKE. 2EILEHERENRFE
FLRLELYDOERFIE, 1EIZHEHME, 2EIZEARRFEEOFE
*REMORBEETETS




